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QUESTION 1

A Job Sequence CANNOT contain
A. Transformer Stages

B. Sequencer Stages

C. Triggers

D. Job Activity Stages

Correct Answer: A

QUESTION 2

What objects below will you NOT be able to view with the Repository window in DataStage Designer Client?
A. Parallel Jobs

B. Table Definitions

C. Logs

D. Sequence Jobs

Correct Answer: C

QUESTION 3
Using a Job Sequence, which of the following tasks CANNOT be performed?
A. Define specific user variables and make them available within a Job Sequence

B. Drop a database table using a script, then start two different parallel jobs in sequence when a file appears in a
specific directory

C. Run two different parallel jobs in sequence and use job parameters to pass different $APT_CONFIG _FILE values for
each of them

D. Create multiple Exception Handlers stages to handle different types of failures

Correct Answer: D

QUESTION 4
Which of the following statements is an INVALID description of the Sort Stage Option Create Key Change Column?

A. Adds a column which holds a value of 0 or 1
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B. 1 indicates the key value has changed
C. O indicates the key value has not changed
D. Adds a column which holds a value of true/false

Correct Answer: D

QUESTION 5

Which of the following statements about the Lookup Stage is correct?
A. It is a Real-Time Stage

B. It combines data horizontally

C. It can have only one input link defined

D. The default partition method for Lookup is Hash

Correct Answer: B
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